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SLOWLEARNERS WORK SHEET  
 

Ratio & Proportion 
 

1. Find the ratio : 666 gm to 6 kg 
a. 111:1  b. 111:10  c. 111:100  d. 111:1000 

e. Answer not known 
“666 fpuhKf;F 6 fpNyhfpuhk;” vd;gjd; tpfpjk; fhz;f. 
a. 111:1  b. 111:10  c. 111:100  d. 111:1000 
e. tpil njhpatpy;iy 

 

2. Find x if   
 

 
 

 

  
 
 

  
 

a. 
 

 
    b. 

  

  
   c. 

 

 
   d. 

 

  
 

e. Answer not known 
4 3 5

: :
9 11 33

x   vdpy;> x d; kjpg;G fhz;f: 

a. 
3

7
   b. 

11

15
   c. 

4

5
   d. 

3

17
 

e. tpil njhpatpy;iy 
 

 
3. y : 36 = 2 : x = 8 : 12. Find x, y respectively. 

a. 24, 3 b. 3, 24 c. 3, 54 d. 54, 3 e. Answer not known 
y : 36 = 2 : x = 8 : 12 vdpy; x kw;Wk; y kjpg;Gfis fhz;f. 
a. 24, 3 b. 3, 24 c. 3, 54 d. 54, 3 e. tpil njhpatpy;iy 

 
4. How many squats are there in a standard chess board? 

a. 64  b. 128  c. 204  d. 256 e. Answer not known 
xU rJuq;f gyifapy; vj;jid rJuq;fs; ,Uf;Fk;? 
a. 64  b. 128  c. 204  d. 256 e. tpil njhpatpy;iy 

 
5. Ramu and Somu bought two tables for Rs. 750 and Rs. 900 respectively. What is 

the ratio of the prices of tables bought by Somu and Ramu? 
a. 6 : 5  b. 5 : 6  c. 2 : 3  d. 3 : 2 
e. Answer not known 
uhK kw;Wk; NrhK thq;fpa ,U Nkirfspd; tpiy KiwNa ₹ 750 kw;Wk; ₹ 900 
vdpy; NrhK kw;Wk; uhK thq;fpa Nkirfspd; tpiyia tpfpjj;jpy; $Wf. 



 

2 | P a g e  APPOLO STUDY CENTRE PH: 044-24339436, 42867555, 9840226187 
  

 

a. 6 : 5  b. 5 : 6  c. 2 : 3  d. 3 : 2 
e. tpil njhpatpy;iy 

 
6. A sum of money is to be distributed among A, B, C, D in the proportion of   5 : 2 : 

4 : 3. If C gets Rs. 1,000 more than D. What is B’s share? 
a. Rs. 1,000  b. Rs. 3,000  c. Rs. 2,000  d. 4,000 
e. Answer not known 
A, B, C, D vd;gth;fs; xU Fwpg;gpl;l njhifia 5 : 2 : 4 : 3 vd;w tpfpjj;jpy; 
gq;fpLfpd;wdh;. ,jpy; C vd;gth; D I tpl &. 1,000 mjpfk; ngWfpwhh; vdpy; B d; 
gq;F vd;d? 
a. Rs. 1,000  b. Rs. 3,000  c. Rs. 2,000  d. 4,000 
e. tpil njhpatpy;iy 

 
Alphanumeric 

 
7. Find the next letter 

R, U, X, A, D, _________. 
a. E   b. H   c. G   d. F 
e. Answer not known 
mLj;j vOj;ijf; fz;lwpf. 
R, U, X, A, D, _________. 
a. E  b. H  c. G  d. F  e. tpil njhpatpy;iy 

 
8. Find the term which does not fit into the series below: 

1CV, 5FU, 9IT, 15LS, 17OR 
a. 5FU b. 15LS  c. 9IT  d. 17OR    e. Answer not known 
fPNo nfhLf;fg;gl;Ls;s njhlhpy; nghUe;jhj cWg;igf; fhz;f. 
1CV, 5FU, 9IT, 15LS, 17OR 
a. 5FU b. 15LS  c. 9IT  d. 17OR    e. tpil 
njhpatpy;iy 

 
9. Replace the letter by symbols as + for A, - for B, x for C, ÷ for D, find the answer 

for the pattern 4B3C5A30D2 by doing the given operations. 
a. 3  b. 4  c. 5  d. 0  e. Answer not known 
A ,f;Fg; gjpy; + vdTk; B ,f;Fg; gjpy; - vdTk; C ,f;Fg; gjpy; x vdTk; D 
,f;Fg; gjpy; ÷ vdTk; vLj;Jf; nfhz;lhy; 4B3C5A30D2 vd;w mikg;gpd; 
tpiliaf; fhz;f. 
a. 3  b. 4  c. 5  d. 0  e. tpil njhpatpy;iy 

 
10. What will be the next term in BDF, CFI, DHL,… ? 

a. CJM   b. EIM  c. EJO  d. EMI 
e. Answer not known 
BDF, CFI, DHL, ….vd;w njhlhpy; mLj;j cWg;G ahJ? 

a. CJM b. EJM  c. EJO  d. EMI e. tpil njhpatpy;iy 
 

Time & Work 
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11. 12 cows can graze a field for 10 days. 20 cows can graze the same field for 
__________.  
a. 15   b. 18   c. 6   d. 8 
e. Answer not known 
12 khLfs; xU taiy 10 ehl;fspy; Nka;fpwJ vdpy; 20 khLfs; mNj taiy 
vj;jid ehl;fspy; NkAk;? 
a. 15   b. 18   c. 6   d. 8 
e. tpil njhpatpy;iy 

 
12. A alone can do a piece of work in 10 days. If B alone in 15 days. They undertook 

work for Rs. 2,00,000. The amount that a will get is 
a. Rs. 1,20,000  b. Rs. 90,000  c. Rs. 60,000 d. Rs. 40,000 
e. Answer not known 
A vd;gth; jdpNa xU Ntiyia 10 ehs;fspYk; B Mdth; jdpNa 15 ehs;fspy; 
Kbg;gh;. mth;fs; ,e;j Ntiyia &. 2>00>000 njhiff;F xg;Gf; nfhz;ldh; 
vdpy;> A ngWk; njhif ________ MFk;. 
a. &. 1,20,000  b. &. 90,000  c. &. 60,000 d. &. 40,000 
e. tpil njhpatpy;iy 

 
13. Fill in the blanks : 

If 5 persons can do 5 jobs in 5 days then 50 persons can do 50 jobs in ______ days. 
a. 5   b. 6   c. 50   d. 10 
e. Answer not known 
epug;Gf 
5 egh;fs; 5 Ntiyfis 5 ehs;fspy; nra;J Kbg;gh; vdpy;> 50 egh;fs; 50 
Ntiyfis ____ ehl;fspy; nra;J Kbg;gh;. 
a. 5   b. 6   c. 50   d. 10 
e. tpil njhpatpy;iy 

 
14. 210 men working 12 hours a day can finish a job in 18 days. How many men are 

required to finish the same job in 20 days working 14 hours a day? 
a. 160   b. 162  c. 164   d. 169 
e. Answer not known 
210 Mz;fs; ehnshd;Wf;F 12 kzp Neuk; Ntiy nra;J xU Ntiyia 18 
ehs;fspy; Kbg;gh;. mNj Ntiyia ehnshd;Wf;F 14 kzp Neuk; Ntiy nra;J 
20 ehl;fspy; Kbf;f vj;jid Mz;fs; Njit  
a. 160   b. 162   c. 164   d. 169 
e. tpil njhpatpy;iy 

 
LCM 

 
15. The L.C.M. of two co-prime numbers is 5005. If one of the numbers is 65, then 

find the other number 
a. 65   b. 66   c. 1   d. 77 

e. Answer not known 
,U rhh; gfh vz;fspd; kP.rp.k. 5005. Xh; vz; 65 vdpy;> kw;Nwhh; vz; vd;d? 
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a. 65   b. 66   c. 1   d. 77 
e. tpil njhpatpy;iy 

 
16. LCM of 35a2c3b, 42a3cb2 and 30ac2b3 is 

a. 210a3c3b3  b. 7abc  c. 216a2c3b  d. 441a3c3b2 
e. Answer not known 
35a2c3b, 42a3cb2  kw;Wk; 30ac2b3 ,tw;wpd; kPr;rpW nghJ klq;F (kP.ngh.k) fhz;f. 
a. 210a3c3b3  b. 7abc  c. 216a2c3b  d. 441a3c3b2 
e. tpil njhpatpy;iy 
 

17. If the LCM of 3 and 9 is 9 then H.C.F. is  
a. 1  b. 3  c. 9  d. 27  e. Answer not known 
3 kw;Wk; 9 Mfpa vz;fspd; kP.rp.k. 9 vdpy; mtw;wpd; kP.ng.t. 
a. 1  b. 3  c. 9  d. 27  e. tpil njhpatpy;iy 

 
18. Find the L.C.M. : (2x2 – 3xy)2, (4x – 6y)3, 8x3 – 27y3 

a. 23x3 (2x – 3y)2    b. 23x2 (4 x2 + 6 xy + 9y2) 
c. 23x2 (2x – 3y)3 (4 x2 + 6 xy + 9y2) d. 23x3 (2x – 3y)3 (4 x2 + 6xy + 9y2) 
e. Answer not known 
kP.rp.k. fhz;f: (2x2 – 3xy)2, (4x – 6y)3, 8x3 – 27y3 

a. 23x3 (2x – 3y)2    b. 23x2 (4 x2 + 6 xy + 9y2) 
c. 23x2 (2x – 3y)3 (4 x2 + 6 xy + 9y2) d. 23x3 (2x – 3y)3 (4 x2 + 6xy + 9y2) 
e. tpil njhpatpy;iy 

 

 
HCF 

 
19. Find HCF of 

x2 + xy, x3y2 + x2y3 
a. x (x +y)  b. x2 + xy  c. x3y2 + x2y3  d. xy (x + y) 
e. Answer not known 
kP.ngh.t. fhz;f: 
x2 + xy, x3y2 + x2y3 
a. x (x +y)  b. x2 + xy  c. x3y2 + x2y3  d. xy (x + y) 
e. tpil njhpatpy;iy 

 
20. What is the HCF of x4 – 1 and x2 – 1? 

a. (x + 1) (x – 1)  b. (x – 1)2  c. x2 + 1  d. (x + 1)2 
e. Answer not known 
x4 – 1, x2 – 1d; kP.ngh.t. fhz;f : 

a. (x + 1) (x – 1)  b. (x – 1)2  c. x2 + 1  d. (x + 1)2 
e. tpil njhpatpy;iy 

 
21. H.C.F of (x + y)2, (y + z)3, (z + x)4 is 

a. 1  b. x + y + z  c. (x + y + z)2  d. (x + y)2(y + z)3(z + x)4 
e. Answer not known 
(x + y)2, (y + z)3, (z + x)4 d; kP.ngh.t 
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a. 1  b. x + y + z  c. (x + y + z)2  d. (x + y)2(y + z)3(z + x)4 
e. tpil njhpatpy;iy 

 
Simple Interest 

 
22. The interest for a principle of Rs. 4,500 which gives an amount of Rs. 5,000 at end 

of certain period is. 
a. Rs. 500  b. Rs. 200   c. 20%  d. 15% 
e. Answer not known 
xU Fwpg;gpl;l fhyj;jpw;F ₹ 4>500 mrYf;F nkhj;j njhif ₹ 5>000 fpilj;jhy; 
mjDila jdptl;b vt;tsT? 
a. &. 500  b. &. 200   c. 20%  d. 15% 
e. tpil njhpatpy;iy 

 
23. A sum of Rs. 48,000 was lent out at simple interest and at the end of 2 years and 3 

months the total amount was Rs. 55,560. Find the rate of interest per year 
a. 6%   b. 7%   c. 8%   d. 9% 
e. Answer not known 
fldhf toq;fg;gl;l mry; ₹ 48>000 f;F 2 Mz;Lfs; 3 khjf; fhyj;jpw;Fg; gpd; 
jdptl;b %yk; ngwg;gl;l nkhj;j njhif ₹ 55>560 Mf ,Ue;jJ vdpy;> tl;b 
tPjj;ijf; fhz;f. 
a. 6%   b. 7%   c. 8%   d. 9% 
e. tpil njhpatpy;iy 

 
24. In what time will Rs. 5,600 amount to Rs. 6,720 at 6% per annum? 

a.  
 

 
 years  b.  

 

 
 years  c.  

 

 
 years  d.  

 

 
 years 

e. Answer not known 
vj;jid Mz;Lfspy; &. 5,600 Mz;Lf;F 6% jdptl;b tPjj;jpy; &. 6,720 Mf 
caUk;.  

a.  
 

 
 Mz;Lfs; b.  

 

 
 Mz;Lfs; c.  

 

 
 Mz;Lfs; d.  

 

 
 Mz;Lfs; 

e. tpil njhpatpy;iy 
 

d. 2  
 

 
 tUlq;fs;  e. tpil njhpatpy;iy 

 
 

 
Simplification 

 
 

25. Simplify √   √    √   √   

a. 15   b. 12   c. 8   d. 7 
e. Answer not known 

RUf;Ff: √   √    √   √   
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a. 15   b. 12   c. 8   d. 7 
e. tpil njhpatpy;iy 

 
Number Series 

 
26. Find out the next number in : 

840, 168, 42, 14, 7, _________. 
a. 7   b. 1   c. 0   d. -7 
e. Answer not known 
mLj;j vz; ahJ? 
840, 168, 42, 14, 7, ____. 
a. 7  b. 1  c. 0  d. -7  e. tpil njhpatpy;iy 

 
27. Find the number of term in the number series 3, 6, 9, …, 111 

a. 37   b. 38   c. 36   d. 42 
e. Answer not known 
3, 6, 9, …, 111 vd;w njhlh; thpirapy; cs;s cWg;Gfspd; vz;zpf;if vd;d? 
a. 37   b. 38   c. 36   d. 42 
e. tpil njhpatpy;iy 
 
 

Number System 
 

28. If sum of the three prime numbers are 80 and the difference between any two 
numbers are 4. Find the 3 numbers. 
a. 2, 31, 47   b. 2, 37, 41   c. 2, 11, 67 
d. 2, 17, 61   e. Answer not known 
%d;W gfh vz;fspd; $Ljy; 80. mtw;Ws; ,U vz;fspd; NtWghL 4 vdpy; me;j 
%d;W vz;fs; 
a. 2, 31, 47   b. 2, 37, 41   c. 2, 11, 67 
d. 2, 17, 61   e. tpil njhpatpy;iy 
 

29. Sum of digits of a two digit number is 9. Its digits are reversed when 27 is added 
to that number then the number is? 
a. 69   b. 36   c. 47   d. 63 
e. Answer not known 
Xh; <hpyf;f vz;zpd; ,yf;fq;fspd; $Ljy; 9. me;j vz;Zld; 27-I $l;Lk; 
NghJ ,yf;fq;fs; ,lk; khWfpd;wd vdpy; me;j vz; vJ? 
a. 69   b. 36   c. 47   d. 63 
e. tpil njhpatpy;iy 

 
30. Find the smallest number which is exactly divisible by all the numbers from 1 to 

9. 
a. 2510  b. 2520  c. 2530  d. 2540 
e. Answer not known 
1 ypUe;J 9 tiuapyhd midj;J vz;fshYk; tFgLk; kpfr;rpwpa vz;izf; 
fhz;f. 
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a. 2510  b. 2520  c. 2530  d. 2540 
e. tpil njhpatpy;iy 

 

 
Percentage 

 
31. There are 50 students in a class. If 14% are absent on a particular day. Find the 

number of students present in the class. 
a. 36   b. 7   c. 43   d. 38 
e. Answer not known 
xU tFg;gpy; 50 khzth;fs; cs;sdu;. xU Fwpg;gpl;l ehspy; 14% tUif 
Gupatpy;iy vdpy; tUif Ghpe;j khzth;fspd; vz;zpf;if fhz;f. 
a. 36  b. 7  c. 43  d. 38  e. tpil njhpatpy;iy 
 

32. 72% of 25 students are good in Mathematics. How many are not good in 
Mathematics? 
a. 5 students  b. 6 students    c. 7 students  d. 8 students 
e. Answer not known 
25 khzth;fspy; 72% Ngh; fzpjg; ghlj;jpy; jpwikahdth;fs;. fzpjg; ghlj;jpy; 
jpwikaw;Nwhh; vj;jidg; Ngh;? 
a. 5 khzth;fs;  b. 6 khzth;fs;   c. 7 khzth;fs;  
d. 8 khzth;fs;  e. tpil njhpatpy;iy 
 

33. If 48% of 48 = 64% of x, then x = 
a. 64   b. 56   c. 42   d. 36 

e. Answer not known 

48 ,d; 48% = x ,d; 64% vdpy; x d; kjpg;G _________ MFk;. 

a. 64   b. 56   c. 42   d. 36 
e. tpil njhpatpy;iy 

 
34. 15% of 25% of 10,000 is 

a. 375  b. 400  c. 425  d. 475 e. Answer not known 
10,000  ,d; 25% kjpg;gpd; 15% vd;gJ __________ MFk;. 
a. 375  b. 400  c. 425  d. 475 e. tpil njhpatpy;iy 

 
35. The income of a person is increased by 10% and then decreased by 10%. Find the 

change in his income. 
a. 0%  b. 1%  c. 10%  d. 100% e. Answer not known 
xUtUila tUkhdk; mjpfhpj;J mjd;gpd; Fiwe;jJ. mtUila tUkhdj;jpy; 
Vw;gl;l khw;wk; vd;d rjtPjk; 
a. 0%  b. 1%  c. 10% d. 100% e. tpil njhpatpy;iy 

 
36. When a number is decreased by 25% it becomes 120. Find the number. 

a. 180  b. 170  c. 160  d. 150 e. Answer not known 
Xh; vz;zpd; kjpg;ig 25% Fiwj;jhy; 120 fpilf;fpwJ vdpy;> me;j vz;izf; 
fhz;f. 

a. 180  b. 170  c. 160  d. 150 e. tpil njhpatpy;iy 
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37. In a school of 1,400 students there are 420 girls. Find the percentage of boys in the 

school? 
a. 30%  b. 70% c. 50% d. 80% e. Answer not known 
xU gs;spapy; cs;s 1400 khzth;fspy;> 420 Ngh; khztpfs;> gs;spapy; cs;s 
khzth;fspd; rjtPjk; fhz;f. 

a. 30% b. 70% c. 50% d. 80% e. tpil njhpatpy;iy 
 
38. An Alloy contains 26% of copper. What quantity of alloy is required to get 260 g 

of copper? 
a. 740 g   b. 2060 g  c. 1000 g  d. 10,000 g 
e. Answer not known 
xU cNyhff; fyit 26% jhkpuj;ijf; nfhz;Ls;sJ. 260 fp. jhkpuj;ijg; ngw 
Njitahd cNyhff; fyitapd; msT 
a. 740 fp  b. 2060 fp  c. 1000 fp   d. 10>000 fp 
e. tpil njhpatpy;iy 

 
39. If the price of orid dhall after 20% increase is Rs. 96 per kg, find the original price 

of orid dhall per kg. 
a. Rs. 100   b. Rs. 80  c. Rs. 60  d. Rs. 50 
e. Answer not known 
20% tpiy cah;tpw;Fg; gpd; xU fpNyh cSj;jk; gUg;gpd; tpiy ₹ 96 vdpy; 
mjd; mry; tpiy vd;d? 
a. Rs. 100   b. Rs. 80  c. Rs. 60  d. Rs. 50 
e. tpil njhpatpy;iy 
 

Simple Interest 
 

40. A Principal becomes Rs. 10,050 at the rate of 10% in 5 years. Find the principal. 
a. Rs. 6,500  b. Rs. 6,700  c. Rs. 6000  d. Rs. 3,350 
e. Answer not known 
xU Fwpg;gpl;l njhifahdJ 10% tl;b tPjk; 5 Mz;LfSf;F &.10,050 
fpilf;fpwJ vdpy; mry; vt;tsT? 
a. &. 6,500  b. &. 6,700  c. &. 6000  d. &. 3,350 
e. tpil njhpatpy;iy 

 

41. Calculate the simple interest on Rs. 7,200 at 
3

12
4

%per annum for 9 months. 

a. Rs. 962.4  b. Rs. 800.3  c. Rs. 784.2  d. Rs. 688.5 

e. Answer not known 

&. 7,200 -f;F Mz;L 
3

12
4

% tl;b vd;w tPjj;jpy; 9 khjq;fSf;fhd jdp tl;b 

fhz;f. 
a. &. 62.4  b. &. 800.3  c. &. 784.2  d. &. 688.5 
e. tpil njhpatpy;iy 
 

42. In what time will Rs. 5,600 amount to Rs. 6,720 at 6% per annum? 
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a. 2 years  b. 4 years  c.  
 

 
 years  d.  

 

 
 years 

e. Answer not known 
&. 5,600 f;F 6% tl;b tPjk; vj;jid Mz;Lfspy; &. 6,720 fpilf;Fk;? 

a. 2 Mz;Lfs;  b. 4 Mz;Lfs;  c.  
 

 
 Mz;Lfs;   

d.  
 

 
 Mz;Lfs; e. tpil njhpatpy;iy 

 
Compound Interest 

 
43. Find the compound interest on ₹ 1,000 at 10% per annum for 2 years 

a. ₹ 190 b. ₹ 210 c. ₹ 1210 d. ₹ 200 e. Answer not known 
mry; ₹ 1>000-f;F 10% Mz;L tl;bapy; 2 Mz;LfSf;F fpilf;Fk; $l;L 
tl;biaf; fhz;f. 

a. ₹ 190 b. ₹ 210 c. ₹ 1210 d. ₹ 200 e. tpil njhpatpy;iy 

 
GCD 

 
44. Find GCD of x3 - x2 + x -1, x4 – 1 

a. x2 + 1   b. (x - 1)(x2 + 1)  c. (x + 1)(x2 + 1) 
d. x2 – 1   e. Answer not known 
kPg;ngU nghJf; fhuzp fhz;f: x3 - x2 + x -1, x4 – 1 
a. x2 + 1   b. (x - 1)(x2 + 1)  c. (x + 1)(x2 + 1) 
d. x2 – 1   e. tpil njhpatpy;iy 

 
Area 

45. Find the total area of 14 squares whose sides are 11 cm, 12 cm, 13 cm …. 24 cm. 
a. 5975 cm2   b. 3813 cm2   c. 4515 cm2 

d. 3939 cm2   e. Answer not known 
11 nrkP> 12 nrkP> 13 nrkP… 24 nrkP gf;f msTfisf; nfhz;l 14 rJuq;fspd; 
nkhj;jg; gug;gsT fhz;f 
a. 5975 nrkP2  b. 3813 nrkP2  c. 4515 nrkP 
d. 3939 nrkP2  e. tpil njhpatpy;iy 
 

46. The radius of spherical balloon increases from 12 cm to 16 cm as air being 
pumped it. Find the ratio of the surface area of the balloons in the two cases. 

a. 9 : 16  b. 9 : 14  c. 9 : 13  d. 9 : 15 
e. Answer not known 
xU Nfhs tbt gY}dpy; fhw;W ce;jg;gLk; NghJ mjd; Muk; 12 nrk.kP -ypUe;J 
16 nr.kP Mf caUfpwJ. ,U Gwg;gug;Gfspd; tpfpjk; fhz;f. 
a. 9 : 16  b. 9 : 14  c. 9 : 13  d. 9 : 15 
e. tpil njhpatpy;iy 

 
47. The base of the parallelogram is thrice its height, if the area is 192 sq.cm, find the 

base. 
a. 8 cm   b. 24 cm  c. 20 cm  d. 34 cm 
e. Answer not known 
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Xh; ,izfuj;jpd; mbg;gf;fkhdJ mjd; cauj;ijg; Nghy %d;W klq;fhfTk; 
mjd; gug;gsT 192 r.nr.kP MfTk; ,Ug;gpd; mbg;gf;fj;ij fhz;f. 
a. 8 nr.kP.  b. 24 nr.kP.  c. 20 nr.kP  d. 34 nr.kP 
e. tpil njhpatpy;iy 
 

 
Volume 

 
48. If the radii of the circular ends of a frustum which is 45 cm high are 28 cm and 7 

cm. Find the volume of the frustum. 
a. 48510 cm3  b. 48501 cm3 c. 48105 cm3 d. 48511 cm3 

e. Answer not known 
45 nr.kP cauKs;s Xh; ,ilf; fz;lj;jpd; ,U Gw Muq;fs; KiwNa 28 nr.kP. 
kw;Wk; 7 nr.kP. vdpy;> ,ilf;fz;lj;jpd; fd msitf; fhz;f. 
a. 48510 nr.kP3  b. 48501 nr.kP3 c. 48105 nr.kP3 d. 48511 nr.kP3 

 e. tpil njhpatpy;iy 
 
49. How many ways can you answer five TRUE or FALSE questions? 

a. 10   b. 5   c. 25   d. 32 
e. Answer not known 
rhpah? jtwh? $Wf vd 5 Nfs;tpfs; ,Uf;fpd;wd. ,e;j 5 Nfs;tpfSf;Fk; 
nkhj;jkhf vj;jid tpjkhd gjpy;fs; juKbAk;? 
a. 10   b. 5   c. 25   d. 32 
e. tpil njhpatpy;iy 

 
 


